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2 Results

Table 1: Summary

dataset  disparity error viewpoint(r)
Figure 3 cones Gaussian 0.5
Figure 4 cones Gaussian 0.25
Figure 5 cones uniform 0.5
Figure 6 cones uniform 0.25
Figure 7 | teddy Gaussian 0.5
Figure 8 | teddy Gaussian 0.25
Figure 9 | teddy uniform 0.5
Figure 10 | teddy uniform 0.25

* Note that MSE values may be slightly different from those desribed in the paper, becuase disparity errors are
generated by the randam number generator.
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Figure 3: dataset: cones, disparity error: Gaussian, viewpoint: » = 0.5
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Figure 4: dataset:

cones, disparity error: Gaussian, viewpoint: r = 0.25
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Figure 5: dataset: cones, disparity error: Uniform, viewpoint: » = 0.5
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Figure 6: dataset: cones, disparity error: Uniform, viewpoint: r = 0.25
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Figure 7: dataset: teddy, disparity error: Gaussian, viewpoint: r = 0.5



o linear interpolation band-limited linear interpolation optimal interpolation
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Figure 8: dataset: teddy, disparity error: Gaussian, viewpoint: r = 0.25
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Figure 9: dataset: teddy, disparity error: Uniform, viewpoint: r = 0.5
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Figure 10: dataset: teddy, disparity error: Uniform, viewpoint: r = 0.25
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